

REQUEST FOR BIDS

CYPRESS, INC.

PRODUCTION WELL (6-INCH CASING)

The bidder hereby proposes to furnish all equipment, material and labor, and to do all the work required to complete the work in accordance with specifications for the unit prices, lump sum, or hourly rates set forth below and in the attachments. If needed, attach additional pages to provide further detail on bid items.

Item	Estimated Quantity	Units	Unit Price	Total Price
1 Mobilization , Demobilization and Clean-Up	1	Each	<u>5,500.00</u>	<u>5,500.00</u>
2 Install Cemented Surface Casing to Minimum 40 Foot Depth	1	Each	<u>4,900.00</u>	<u>4,900.00</u>
3 Drill Minimum 10 3/4-inch Hole	800	Feet	<u>37.00</u>	<u>29,600.00</u>
4 Furnish and Install 6- inch Inside Diameter Blank PVC Casing	400	Feet	<u>16.00</u>	<u>6,400.00</u>
5 Furnish and install 6- Inch Inside Diameter PVC Screen	400	Feet	<u>20.00</u>	<u>8,000.00</u>
6 Furnish and Install Pitless Adapter	1	Each	<u>4,650.00</u>	<u>4,650.00</u>
7 Furnish and Install Formation Stabilizer	1	Each	<u>11,950.00</u>	<u>11,950.00</u>
8 Furnish and Install Annular Seals and Backfill	1	Each	<u>4,500.00</u>	<u>4,500.00</u>
9 Well Development	16	Hours	<u>400.00</u>	<u>6,400.00</u>
10 Well Testing	24	Hours	<u>210.00</u>	<u>5,040.00</u>
11 Wellhead Seal and Protection	1	Each	<u>815.00</u>	<u>815.00</u>
12 Stand-By Time	8	Hours	<u>250.00</u>	<u>2,000.00</u>
***13 Furnish and Install Permanent Pump and Controls	1	Each	<u>21,246.00</u>	<u>21,246.00</u>
***20 HP/100 GPM pump set @ 504' on 2.5" galv. drop pipe w/control panel		Total		<u>110,996.00</u>

HydroGeologic Services, Inc.

NM License No. WD-1472

REQUEST FOR BIDS

CYPRESS, INC.

PRODUCTION WELL (6-INCH CASING)

Supplemental Information

Date when rig and crew are available to commence work: Negotiable

Estimated time required to complete work: 30 days.

New Mexico Office of the State Engineer Water Well Driller's License No:
WD-1472

Please attach a list and description of equipment for proposed work and description of proposed drilling and construction methods and specifications, including: borehole drilling method, casing cementing method, well development method, surface casing material specification, blank casing and screen material specification, slot size, and formation stabilizer material. Indicate test pump size and capacity, and permanent pump size, capacity, appurtenances and controls.

REQUEST FOR BIDS

CYPRESS, INC.

PRODUCTION WELL (OPTIONAL ALTERNATIVE 8-INCH CASING)

The bidder hereby proposes to furnish all equipment, material and labor, and to do all the work required to complete the work in accordance with specifications for the unit prices, lump sum, or hourly rates set forth below and in the attachments. If needed, attach additional pages to provide further detail on bid items.

Item	Estimated Quantity	Units	Unit Price	Total Price
1 Mobilization , Demobilization and Clean-Up	1	Each	<u>5,500.00</u>	<u>5,500.00</u>
2 Install Cemented Surface Casing to Minimum 40 Foot Depth	1	Each	<u>5,500.00</u>	<u>5,500.00</u>
3 Drill Minimum 12 3/4-inch Hole	800	Feet	<u>39.00</u>	<u>31,200.00</u>
4 Furnish and Install 8-inch Inside Diameter Blank PVC Casing	400	Feet	<u>24.00</u>	<u>9,600.00</u>
5 Furnish and Install 8-Inch Inside Diameter PVC Screen	400	Feet	<u>28.00</u>	<u>11,200.00</u>
6 Furnish and Install Pitless Adapter	1	Each	<u>6,695.00</u>	<u>6,695.00</u>
7 Furnish and Install Formation Stabilizer	1	Each	<u>13,950.00</u>	<u>13,950.00</u>
8 Furnish and Install Annular Seals and Backfill	1	Each	<u>4,675.00</u>	<u>4,675.00</u>
9 Well Development	16	Hours	<u>400.00</u>	<u>6,400.00</u>
10 Well Testing	24	Hours	<u>210.00</u>	<u>5,040.00</u>
11 Wellhead Seal and Protection	1	Each	<u>815.00</u>	<u>815.00</u>
12 Stand-By Time	8	Hours	<u>250.00</u>	<u>2,000.00</u>
13 Furnish and Install Permanent Pump and Controls	1	Each	<u>21,246.00</u>	<u>21,246.00</u>
		Total		<u>123,816.00</u>

REQUEST FOR BIDS

CYPRESS, INC.

PRODUCTION WELL (OPTIONAL ALTERNATIVE 8-INCH CASING)

Supplemental Information

Date when rig and crew are available to commence work: Negotiable

Estimated time required to complete work: 30 days.

New Mexico Office of the State Engineer Water Well Driller's License No:
WD-1472

Please attach a list and description of equipment for proposed work and description of proposed drilling and construction methods and specifications, including: borehole drilling method, casing cementing method, well development method, surface casing material specification, blank casing and screen material specification, slot size, and formation stabilizer material. Indicate test pump size and capacity, and permanent pump size, capacity, appurtenances and controls.